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(b) For what value of K, the equation x + y + z = 7,

2x+y+42=K,4x+y+ l0z = K2 has a solution.

(a) Calculate the Orthonormal basis for the vectors

by Gram Schmdit process.

(1,2,-1,0), ( 1,0, 1,2), (-1, l, I,0), ( 1, l,-1,0)

(b) Explain the linear transformations for finite
dimensional vector space.

7. (a) Find the divergence of vector

f = @yz)t + (3xzy)j + (xzz - yz)E.

(b) Explain characteristic polynomial of matrix.
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3 (a) Find the Eigen values and the corresponding Eigen
vectors of the matrix.

(b) Test the consistency and hence solve the following
set of equations :

x, * 2x. * x,:2

3x, + 1" 2x.: I

4xr-3xr-x::3

2xr l- 4x' - 2x,.- 4

(a) Define any two of the following :

Vector space,

Convex set,

Linear Independence & Linear dependence,

Orthonormal vectors

(b) For the matrix A =

4

5. (a) Find the inverse of matrix

such that PrAP is diagonal matrix.

(a) Calculate the angle between the surfaces
x2 + y2 + z2 = 9 and z : x2 + y2 - 3 at (2,-1,2).

(b) Prove that the vector

I = (x + 3y)t +gt - 3z)J + @ - zz)E

is solenoidal.
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(b) Examine the following vectors are

dependence and find relations if it exists

xt= (1,2,4) X2: Q'-1'3)

x3 = (o'l'2) x4= e3'7'2)
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